Cuctema MeHeaKMeHTa Kadectsa (CMK) Quality management system (QMS)
000 «Bonsi» cepTudurLMpoBaHa of LLC «Volya» is certified
Ha CooTBETCTBUE for compliance with

Tpe6oBaHUAM standard of
cTaHaapta 1SO 9001:2008
IS0 9001:2008 a 5 a 5

CepTndurumnpoBaHo Certified by

Pycckum Peructpom v Russian Registry

KOMMDODAHMUKA

BONAdA

NMPOU3BOACTBOTENNULU

D®OPTO4YKA

mopaenb 2017

SMALL WINDOW

design 2017

ansa renauubl «JavyHasa-Tpéwka»
for the greenhouse «Dachnaya-Tryoshka»

TexHMYeCcKUHU nacnopTt cTp./page
Technical certificate 2-3

UHCTPYKUUA NO COOpPKe cTp./page
Assembly manual 4-11




TexHnyeckum nacnopt POPTOYHKA ans Tennunubl «[layHasa-TpElKar

Komnnekrauusa getanbHas

Detailed parts list

Ne |Monarking | view 'denomination ___|iength. m|" qty, pos
1-i naket/ 1-st package

[ 1 | & |oseme o5 | 2
2 2 = |ra 0,46 3
3 3 7 Dry o 0,59 2
4 - . - |[ipiowox 04 1
| - | A sz | s |
| - | M e o

7 : R F i v

2-ii naket / 2-nd package

8 eI eroka 073 1
0 - Lot tube e 1
10 (& Bhacket 2
1 — Waster 17
12 = Sorow M3 29
13 Sorew MAX20 22
14 — Sorew MAx35 16
15 Sorew MAx50 1
16 Sorow Maxas 2
17 Nt W 67
18 oknut Mg 2
19 A B Top g 2
20 A Botton inge. 2
21 @ ggg{:h tape 1

Technical certificate FORTOCHKA for the greenhouse «Dachnaya-Tryoshka»

COOpKy M aKcmyaTauuio GOpToOuKMU cnefyeT OCyLeCcTBAATb CTPOro B COOT-
BETCTBUMU C MHCTPYKLUMEH U NpaBUIaMU 3KCMlyaTaLuUU, U3JI0KEHHbIMU B
— = TexHU4ecKom nacnoprte. TeXHUYECKUI NacnopT 0693aTe/IbHO COXPaHUTD.

OnucaHue
®dopToyKa NnpeaHasHayeHa 419 NpoBETPUBAHMS TEMUL,. YCTaHaBANBAETCH TONbKO
B Tennuuy «JadHasa-TpéwKar. Kapkac GopToOUYKM M3rOTOBAEH N3 OLIMHKOBAHHOM CTa-
I 1 cobumpaeTcs ¢ NOMOLLLbIO BUHTOB U raekK. MoKpbITMe GOPTOYKKN obecrneymBaeTcs
Bblpe3aHHbIM M3 TEMIMLbI NONMKaP6OoHaATOM. B KOMMNIEKT GOPTOYKM BXOANAT BCE He-
06X0ANMbIE 3N1EMEHTbI KPEMNNEHUS.

I'IpaBuna AKcnayaTauuum
Mepen HavanoMm aKcnayaTaluu GopToyKa AoMKHa 6biTb cOGpaHa W ycTaHoB/IeHa B
TENIULE B COOTBETCTBMU C MHCTPYKLIMEN.
dopToYKa He Jo/KHa NoJBepraTbCa BO3AEMCTBUAM, KOTOPbIE MOTYT CO3/aTh OCTa-
TOYHblEe ledopMaLMM KapKaca U MOKPbITHS.

lapaHTUiHbIE 06A3aTeNbCTBA
Cpok npeAbABAEHUA NPETEH3UN — 12 MeCALEB CO AHSA MOKYMKMU.
lapaHTUiMHblE 006513aTEALCTBA HE PACMPOCTPAHATCA Ha CAyYau:
1. ycTaHOBKa GpOPTOUKM C HapyLleHWEM TPebOBaHWIA MHCTPYKLMK
2. HapylleHWe NpaBuA 3KCMAyaTaLum
3. yparaHbl, Apyrme CTUXMiHble BeACTBUA.

[ata n3rotoBneHus:

MpeanpuaTtue - narotosutens: 000 «Boas»
141983, . AybHa MockoBcKkoi obAaacTu, nep. CeBepHbIl A.8.
MpeanpuUsTUE - U3rOTOBUTEAb HECET OTBETCTBEHHOCTb 3@ KauyeCTBO NMPOAYKLMKU B cooTBETCTBUM C TK PO.
MpeanpuaTHe ocTaBAsieT 3a cob60W NPaBoO Ha BHECEHWE U3MEHEHUI B KOHCTPYKLMIO GOPTOUKK.

Perform assembling and operation of the small window in strict accordance
with the manual and operating rules stated in the technical certificate.

= = Please keep this technical certificate for further reference.

Description

The small window is designed to ventilate greenhouses. It is installed only in
the greenhouse «Dachnaya-Tryoshka». The frame of the small window is made of
galvanized steel and is to be assembled with screws and nuts. The covering of the
small window is provided by polycarbonate, remaining from the greenhouse covering.
The small window Kit includes all the necessary fastening elements.

Operating rules

Before operating the small window must be assembled and installed in the
greenhouse in accordance with the manual. The small window should not be exposed
to effects that can create permanent deformation of the frame and coating.

Warranty liabilities
Claim presentation period is 12 months from the date of purchase.
Warranty liabilities do not apply to cases of:
1. the small window installation with violation
of requirements of the manual.
2. violation of the rules of operation.
3. floods, hurricanes and other natural disasters.
Date of manufacture:
Manufacturer: VOLYA LLC
per. Severny, 8, Dubna, Moscow region, 141983, Russia.
The manufacturer bears responsibility for quality of products in accordance with RF CC.
The manufacturer reserves the right for the small window engineering design changes.



EO
T 0
x £
= C
uy

s
=2
= =
L O
C O

NeTNs HAXHARA
bottom hinge




B BepxHeM MporoHe NpocBepInTb 0TBEPCTUSA @4 o npeacTaB/ieHHbIM pa3Mepam m
YCTaHOBWTb NETIM BepxHue. BoipesaTb NnonMKkapboHaT Mo BHYTPEHHEMY KOHTYpY Npo-
EéMa Kapkaca.

In the top runner drill holes @4 on the presented dimensions and install top hinges.
Cut polycarbonate on the inner contour of the frame opening.

...o._o\t\c..

nemnga BerHﬂﬂ .
top hinge

BblpesaHHbm KyCOK I'IO/\VIKap60HaTa HanOXUTe Ha GOPTOUKY U 0OPEXBTE MO KOHTYPY
Kapkaca ¢opTouku, CObAIOAAS OTCTYMbI.

Put a cut piece of polycarbonate on window and cut along the contour of the small
window frame, keeping indentations.

YcTtaHoOBUTE MO NEPUMETPY Bbipe3a Tenauubl ynaoT-
HUTENb NPOEMa, HageBas ero Ha cpes nosimkapboHarta.
Kpas BepxHero ynioTHUTES HYXHO BbIMYCTUTb 3@ KOH-
TYp Bblpe3a, 4ns 0TBOAa AO0XAeBOW BoAbl. a5 3Toro
HYXXHO cpe3aTb C 060MX KOHL0B 4acTb YMIOTHUTENS.

Place the seal on the contour of the cut, putting it on
a cut of polycarbonate. The edges of the top seal need
to be released outside the cut-out contour to drain the
rain water. To do this, cut off the part of the seal from
both ends.

YcTaHOBUTE BUHTLI C LWAaMbGaMu No NEPUMETPY Bbipesa, NpeaBapuTebHO Npo-
CBEP/IMB OTBEPCTUSA B AeTansix Npoéma.

Install screws with washers along the perimeter of the cut, pre-drilling holes in the
opening details.

lMoBepx KPOMOK ynaoTHWTE-
N9, Npunerawwmnx K noavkap-
O0HaTy CHapyXW, HaKneutb
CKOTY.

On top of the seal edges,
adjoining to the polycarbonate
outside, stick the scotch tape.

YNIOTHUTENb NPoéMa
(no nepumeTpy Bblpeaa)
opening seal

(along the perimeter of the cui)




YcTaHOBWTE BEPTUKASbHbBIE M TOPU30HTAlbHbIE NIaHKKU Ha NONMKap6oHaT GOPTOYKM.
Install the vertical and horizontal cleats on the polycarbonate of the small window.

niaHKa ropM3oHTaNbHas
horizontal cleat

BUHT M4x10
screw M4x10

\Luaﬁ6a

nonMkapoéoHar
washer

polycarbonate

TPyOKa Ans 3anmMpaHus

YKPOHLITENH
bracket

BMHT M4x50 .
screw M4x50°

< Tpy6Ka Ang 3anupaHus
locking tube



ranka ctonopHas M5
A lock nut M5

. MEeTIA BEPXHSAS
* top hinge

BUHT M5x45
: screw Mb5x45

LlenoyKa KpenuTcs Ha BMHTbI M yaepX1BaeT GoPTOUKY NpM NOpbiBax BeTpa.
The chain is fastened on screws and keeps the small window at gusts of wind.

[

EE T i P
5 ‘Wlinm:n»_,i

I’ii‘\h‘lﬁ'tl“l]i‘il?‘\ll"fl?I’Wl‘

. KPIOYOK
~hook

KPOHLWTEWH
bracket

/ KPIOYOK




KOMMNDAHMA

BOANAd

NMPOU3BOACTBOTENAUL

MpeanpuaTMe-u3roToBUTENb:

000 «Bons», r. ly6Ha MocKoBCcKoM o6nacTv.
Ten/dakc: (495) 598-5-999
www.perchina.ru
e-mail: info@perchina.ru

Manufacturer:

Volya LLC, Dubna, Moscow Oblast
Phone/fax: 8 (495) 598-5-999
www.perchina.ru
e-mail: info@perchina.ru

[aHHoe pyKOBO/ACTBO HE MOXET OblTb BOCNPON3BEAEHO B /I060M hOpME LIETMKOM UK
YaCTUYHO 6€3 NMMCbMEHHOMO Pa3peLLlEeHNs KOMMNaHuK «Bons»

This manual may not be reproduced in any form in full or partially without written
permission of Volya Company




